
https://www.pass2lead.com/350-401.html
2024 Latest pass2lead 350-401 PDF and VCE dumps Download

 

 

 

350-401Q&As

Implementing and Operating Cisco Enterprise Network Core
Technologies (ENCOR) & CCIE Enterprise Infrastructure & CCIE

Enterprise Wireless

Pass Cisco 350-401 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/350-401.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

350-401 PDF Dumps | 350-401 VCE Dumps | 350-401 Study Guide                                1 / 4

https://www.pass2lead.com/350-401.html
https://www.pass2lead.com/350-401.html
https://www.pass2lead.com/350-401.html


https://www.pass2lead.com/350-401.html
2024 Latest pass2lead 350-401 PDF and VCE dumps Download

QUESTION 1

Witch two actions provide controlled Layer 2 network connectivity between virtual machines running on the same
hypervisor? (Choose two.) 

A. Use a single trunk link to an external Layer2 switch. 

B. Use a virtual switch provided by the hypervisor. 

C. Use a virtual switch running as a separate virtual machine. 

D. Use a single routed link to an external router on stick. 

E. Use VXLAN fabric after installing VXLAN tunneling drivers on the virtual machines. 

Correct Answer: BC 

Source 1: 

https://www.cisco.com/c/dam/en/us/products/collateral/switches/nexus-1000v-switchvmware-
vsphere/at_a_glance_c45-532467.pdf 

Source 2: 

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/sw/vm_fex/vmware/gui/config_guide/2-1/b_GUI_VMware_
VMFEX_UCSM_Configuration_Guide_2_1/ 

b_GUI_VMware_VMFEX_UCSM_Configuration_Guide_2_1_chapter_0110.pdf 

 

QUESTION 2

What is a Type 1 hypervisor? 

A. runs directly on a physical server and depends on a previously installed operating system 

B. runs directly on a physical server and includes its own operating system 

C. runs on a virtual server and depends on an already installed operating system 

D. run on a virtual server and includes its own operating system 

Correct Answer: B 

 

QUESTION 3

Which statement about agent-based versus agentless configuration management tools is true? 

A. Agentless tools require no messaging systems between master and slaves. 

B. Agentless tools use proxy nodes to interface with slave nodes. 
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C. Agent-based tools do not require a high-level language interpreter such as Python or Ruby on slave nodes. 

D. Agent-based tools do not require installation of additional software packages on the slave nodes. 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit. An engineer troubleshoots connectivity issues with an application. Testing is performed from the
server gateway, and traffic with the DF bit set is dropped along the path after increasing packet size. Removing the DF
bit 

setting at the gateway prevents the packets from being dropped. What is the cause of this issue? 

A. PMTUD does not work due to ICMP Packet Too Big messages being dropped by an ACL 

B. The remote router drops the traffic due to high CPU load. 

C. The server should not set the DF bit in any type of traffic that is sent toward the network 

D. There is a CoPP policy in place protecting the WAN router CPU from this type of traffic 

Correct Answer: C 
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QUESTION 5

Which two actions are recommended as security best practice to protect REST API (Choose two) 

A. Use TACACACS+ authentication 

B. Enable dual authentication of the session 

C. Enable out-of band authentication 

D. Use SSL for encryption 

E. Use a password hash 

Correct Answer: DE 
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